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( English Version ) |

Instructions :
j Draw diagrams wherever necessary.

i) Unlabelled diagrams do not get any marks.

~

PART - A
Answer the following qne‘stionsin oone word or in one sentence each :
5x1=5
What is hybridoma ?

Which enzyme synthesizes a RNA strand on template strand during the
transcription ?

Expand ABA.
Fruit flies swarm around ripe banana Why ?

In germinating gram seeds that respire aerobically value of R. Q is less
than 1. Why ?

PART - B.
Answer any ﬁve of the following in2tob sentences each : 5x2 = 10
Draw labelled diagram to show different regions of t-RNA molecule. |
Mention any four characters of genetic code.
Mention any four functions of parenehyma. |
Define’plasmolysis. Give an example for it.
Mention four factors affecting transpiration.

Define growth. Mention the phases of growth.
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12.
13.
14.
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16.

17.

PART - C

Answer any four of the following in about 200 to’ 250 words each

. wherever applicable : Y ' ' 4 %5=20
Describe double helical model of DNA.

, Explain the technique of development of golden rice.

Explain intrastelar secondary growth in dicot stem.

Explain Dixon and Joly's theory‘ of ascent of sap.

-a)  Write a brief note on stem cell culture. N 2
b) . Mention any two applications of DNA ﬁngerprinting. o 2 .
¢ Mention the importance of PUc 18 in genetic engineering. ' 1

Describe the reactions involved in Calvin cycle.

PART - D
Answer any one of the following
18. Give schematic representation of glycolysis - - 5
19. Give reasons for the following : ” A | 5x1=5
a 2, 4-D is effective as a weed killer in cereal crop fields.

b) ‘Some bacteria exhibit photosynthesie but they do not produce
oxygen. - ' ‘ ; ' |
c) In treatment of Diabetes, humulin is considered more
~ advantageous than the conventional methods.
d) Fruits of some plants are naturally seedless.

e) Companion cell is considered as sister cell of sieve tube

element.
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( Questiohs only from praétical syllabus )

' Answer any one of the following

arrangement of vascular tissues.

2>1. a)

b)

o

d)

Draw a neat labelled diagram of the stomatal appai‘atus.

'What is the significance of COCl , experiment ?

What is maceration ?

What is the significance of chiromatography ?

' 20 With a neat labelled diagram of T.S. of young dicot root describe the
5

2

SET—
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